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AEA) - A - BES of v e HIDE2
sYs 418,748 396,905 21,843
SYS FLdgE Jsd 308,110 305,79 2,315
ANEHAE 29 278,110 275,7% 2,315
HOHAIXH 63,538 63,651 A113
202 04| 1,018 1,131 A113
01 =U 1,018 1,131 A113
o2 58,0003 x7 H*2 812
OAZ 0 S &4 ot
25,7003 2 +4L 206
301 EtE N = 62,520 62,520
07 & - 01 - 32 s2d= 58,360 58,360
osg JlE=s 300,000 x12&+12& 43,200
OS& 0= 300, 0002« 12& 22 7,200
OS% s34 =&
20,0002 x 12 +23| 122 5,760
oetd g3l 25,0003 x44H+23] 2,200
11 #AIAMHIXIE S 1,280 1,280 0
OAZDS, MOl S BAX 24
10,0002 + 122 +52 600
AT Hat
10,0003 * 17 *43] 680
2,880 2,880 0
20,0002 x12E«12& 2,880
160,000 160,000 0
10,000 0 10,000
04 JIZtNZ22 NS+ 10,000 0 10,000
P FeHX SZ3EH 224 29 10,000
OFS2HH 2( BAI2})
1,733,660 1 +3E 5,201
—F X HI( 3AI12H)
799,800 x1H+6 4,79
201 er2 3| 85,000 60,000 25,000
01 AtR2telHl 55,000 30,000 25,000
Oetalltalet 28 200,000 *102 2,000
Oerdstl JHRet suHIetE AL
5,000,000& 22 10,000
=3t Jeld|
10,000,000 +27H 2~ 20,000
oga(Helst Al 2t
5,000,000 *32 15,000
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800,000& *102] 8,000
30,000 30,000 0
028 ot =A
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el AEGEE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 6,000 5,000 1,000
11 dALEEIXIZE S 6,000 5,000 1,000
Octalitalt g=t|
10,0002 50 * 122 6,000
401 AIEHI L2 TH] 59,000 %,000 236,000
01 Al&H| 59,000 9,000 36,000
OABE HH| A 10,000,000 *1H 4 10,000
ooy B2Y BS)|
5,000,000 =2JH 2= 10,000
OHel | &8 &4
1,000,000 * 109K 2~ 10,000
OF X4 CCTv £X 5,000,000 *27H 2= 10,000
OFEHRrA HXHE SHHE S FH
10,000,000 * 14! 10,000
ORENOH BEME T4 B4TA
9,000,000 *14! 9,000
FUHAOA 2 600 1,200 2600
301 EtE2 N = 600 1,200 2600
11 #AIAMHIXIZ S 600 1,200 A600
OFoFNU A HEScHE)| HHI2d
10,0002 x30& »23] 600
TR & dEe =g 53,972 50,944 3,028
201 2= 31,200 30,600 600
01 At2t2lt] 20,400 19,800 600
OF2ItxIS] LBt4gH|
200,000 * 122 2,400
ORI ?A 2o =&
50,0002 x30E *12& 18,000
02 S3=gHl 10,800 10,800 0
OF2Xx2 23 10,800
—SHAEXHE HIIRs
450,000 123 5,400
—dote=23 250,000 x 122 3,000
—StRs 150,000& 122 1,800
—EAAES 7 300,000 *23] 600
301 2eEN= 22,772 17,693 5,079
11 dALREIXIE S 1,200 1,200 0
O=0XI&HsS &R HE
20,0002 x302 *23] 1,200
14 DBt 2 a=S 21,572 16,493 5,079
O=2IXXI2l AHESAHAL &8l X2
11,0002 x22* 102 * 122 2,640
O=F2UXXIE Ra AIRE =8 XI&
9,860 xBAI 220« 12 18,932
MEOIRAXC 30,000 30,000 0
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Rl A=A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MEZ TN A ALY 30,000 30,000
401 Al HIZL 201 30,000 30,000
01 Al&HI 30,000 30,000
OAAR22Z2E A
10,000,000 +29H 2= 20,000
OB AT, I 22|
2,500,000 *40H 2= 10,000
HY2LAH(ZLS) 110,638 91,110 19,528
el 2| 46,183 32,055 14,128
el =gl 46,183 32,055 14,128
101 @124H| 46,183 32,055 14,128
01 2= 46,183 32,095 14,128
OAteI22+E
11,3192 x102+30AI 2+ 123 40,743
OAR2IZ2 (L2 4)
11,3193 x2& 4 A 2H+60L 5,434
Jl=3H| 64,455 59,055 5,400
Jl=23H] 64,455 59,055 5,400
201 er23| 23,575 23,575 0
01 At2teltl 17,765 17,765 0
OARES 7Y 20,000« 11H* 122 2,640
OxZdE=EE 7 300,000 * 122 3,600
Osd s2= s W& 173,0002 %52 865
Od=Jl & Xz 27,5002 «2CH« 123 660
OSAEA 7Y 22,0003 #2082t Axb3] 2,200
O=AD B s 7E 300,000 *62] 1,800
O=ADI, Ty =d=X4l
300,000 *x2CH*23] 1,200
SIEEESIIEETIN]
8,000 x10 6+ 122 4,800
2 s5=34l 5,810 5,810 0
OoRERe3 130,000& * 12 1,560
(OFSPIETE= 275,000& 128 3,300
Oosties 30,0002« 12& 360
Odote=r= 35,0002~ 12 420
OAIE&Hl s8I 85,0002 22 170
202 048l 29,700 24,300 5,400
02 A0 29,700 24,300 5,400
OZA04H| 225,000« 11H« 123 29,700
203 =4l 11,180 11,180
01 D22 HARFA| 7,700 7,700
osgsd 7,700,000 14 7,700
02 SRItArA =] 480 480 0
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